2018 & 1Xt =3 OGlaH(QH) S2H
(XE)
= =0l & 1X=3 (8,-2) 2 5t = =0l A 1X=3 (8.,-2)
(A) (8) (8)-(A) (A) (B) (B)-(A)

275,152,000 277,110,000 1,958,000 XNESHA 275,152,000 277,110,000 1,958,000
1,350,000 1,350,000 Sl 181,115,000 179,565,000 -1,550,000
1,350,000 1,350,000 el 21H| 162,177,000 162,577,000 400,000

S+ 540,000 540,000 =0 118,578,600 118,578,600

i E=E 540,000 540,000 g0 11,874,240 11,874,240

DIE= 270,000 270,000 B 5,822,640 5,822,640
A= 73,150,000 73,150,000 EXH=s 10,974,810 11,174,810 200,000
73,150,000 73,150,000 AR EEREHIE 14,926,710 15,126,710 200,000

=g 66,500,000 66,500,000 JIEt= 4 A 0 0
== 6,650,000 6,650,000 &R =2 2,120,000 2,120,000 0
2xs+¢ 185,972,000 185,972,000 Jl 22| 2,000,000 2,000,000 0
2X3+E 185,972,000 185,972,000 XS | 0

JaExs+Y 181,172,000 181,172,000 22| 120,000 120,000
Bt Ex3 =+ 4,800,000 4,800,000 2 16,818,000 14,868,000 -1,950,000

sE=+8 8,560,000 8,900,000 340,000 Ol 620,000 620,000
SE==+g 8,560,000 8,900,000 340,000 =Z2H & =8 5,270,000 5,658,000 388,000
ANE=E= 6,560,000 6,900,000 340,000 3R 4,400,000 3,740,000 -660, 000
BINE=&E= 2,000,000 2,000,000 HASUS 3,660,000 3,020,000 -640,000
Hel= 2,000,000 2,000,000 =il 1,400,000 800,000 -600, 000
de= 2,000,000 2,000,000 JIEt2 &I 1,468,000 1,030,000 -438,000
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o = =TS EEE] (5,2 = = =0l =3 =.-2)
(A) (8) (8)-(A) () (8) (8)-(A)

golme 2,000,000 2,000,000 - b 2,810,000 7,965,000 5,155,000

oga 3,600,000 5,217,789 1,617,789 Al bl 2,810,000 7,965,000 5,155,000

2 3,600,000 5,217,789 1,617,789 Al HI 0 0 0

I EE! 3,600,000 5,217,789 1,617,789 THAHE S | 1,360,000 6,215,000 4,855,000

Tagl 520,000 520,211 211 N 1,450,000 1,750,000 300,000

o 520,000 520,211 211 89,228, 600 88,600,600 628,000

JIEFOI 20/ Kb 20,000 20,211 211 T 890,000 340,000 -550,000

plISESES 500,000 500,000 - 3111l 0 0 0

o=l 300,000 100,000 ~200,000

SR 550,000 200,000 -350,000

DS} 40,000 40,000 0

WE T2 AL Yl 14,639,600 9,812,600  -4,827,000

NeHS B (N E A ) 3,655,000 3,042,000 -613,000

Ly HEEEnIEREaBE 10,984,600 6,770,600 4,214,000

0§ QI 22 K01 24 HI AL R3] 0 0 0

M AHEHE X 2 HI AP HI 0 0 0

SOSBH A 550,000 300,000 -250,000

SOSBH A 550,000 300,000 -250,000

MAS =T 2| 22,449,000 17,948,000  —4,501,000

M=yl 2,614,000 1,313,000  -1,301,000

AR 8,835,000 8,635,000 200,000

£2/2 0| 1,000,000 1,000,000 0

BESIEIY 3,200,000 200,000  -3,000,000

SotHlE s 6,800,000 6,800,000 0
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(2 NE)
il = = RoN G ® |® = NON RO BED)

S THE AL 50,400,000 55,400,000 5,000,000

Agedsglal 20,400,000 20,400,000 0

HOHQI 22 Xl 2| 30,000,000 35,000,000 5,000,000

WAL HI 300,000 0 -300,000

ASHWF AL 300,000 0 -300,000

2AE XA ASHI 0 4,800,000 4,800,000

& ot 2| 0 3,135,000 3,135,000

A= 0 45,000 45,000

JIEt2 S| 0 1,620,000 1,620,000

SN 500,000 328,000 -172,000

SN 500,000 328,000 -172,000

PN 500,000 328,000 -172,000

2xapHe 2,000 27,000 25,000

2xapHe 2,000 27,000 25,000

SA=EHE 2,000 27,000 25,000

ol H1 I 1,496,400 624,400 -872,000

ollgldl 1,496,400 624,400 -872,000

ollgldl 1,496,400 624,400 -872,000
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